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SECTION – A                                         
                                       Answer any FIVE questions                  (5 × 8 = 40) 

 

1. Explain the public relation theory of Labour Welfare.  

2. Trace the evolution of labour Welfare Administration.  

3. Define labour Welfare Administration.  

4. Explain the different methods of recruitment of labour.  

5. Discuss the importance of training for labour force.  

6. Explain the problems of women labour.  

7. What problems do migrant workers face? 

8. Describe the need for factory inspection.  

 

SECTION – B                                         
                                       Answer any THREE questions                  (3 × 20 = 60) 

 

9. Describe the organization and functions of the Ministry of Labour.  

10. Explain the various approaches to the study of Labour Welfare Administration.  

11. Summarise the powers and functions of the National Labour Commission.  

12. Write an essay on Child Labour.  

13. Analyse the conditions necessary for the success of trade unions.  
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jkpHhf;fk; 
 

gFjp - m 
vitnaDk; Ie;J tpdhf;fSf;F tpilaspf;f 

(5  8 = 40) 

 

1. bjhHpyhsh; eyidg; gw;wpa kf;fs; bjhlh;g[ nfhl;ghl;oid tpsf;Ff.  

2. bjhHpyhsh; ey eph;thfj;jpd; tsh;r;rpapidf; TWf.  

3. bjhHpyhsh; eyeph;thfj;jpid tiuaWf;f.  

4. bjhHpyhsh;fspd; gy;ntW gzpepakd Kiwfis tpsf;Ff.  

5. bjhHpyhsh; th;f;fj;jpdUf;F gapw;rpapd; Kf;fpaj;Jtj;jpid tpthjp.  

6. bgz; bjhHpyhsh;fspd; gpur;ridfis tpsf;Ff.  

7. ,lk; bgah;e;j bjhHpyhsh;fspd; gpur;rpidfs; ahit? 

8. bjhHpw;rhiy fz;fhzpg;gpd; mtrpaj;jpid tpthp.  

 

gFjp - M 
vitnaDk; _d;W tpdhf;fSf;F tpilaspf;f 

(3  20 = 60) 

 

9. bjhHpyhsh; ey mikr;rfj;jpd; mikg;g[ kw;Wk; gzpfis tpthp. 

10. bjhHpyhsh; eyeph;thfj;jpd; gy;ntW mQF Kiwfis tpsf;Ff.  

11. njrpa bjhHpyhsh; Mizaj;jpd; mjpfhu';fisa[k; gzpfisa[k; bjhFj;J 
vGJf.  

12. FHe;ij bjhHpyhsh; gw;wp xU fl;Liu tiuf. 

13. bjhHpw; r';f';fspd; btw;wpf;Fj; njitahd R{Hiy gFj;jha;f. 
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